Operation on sets Venn Diagrams

_f______ EJ'(EKHEE Iy
A 01,834,547, 8] B AT5TAN] ¢ fo,5,00 2]

1) AUB - 6,1,2,34 561,879, I f

i) AUC = 20,1,2,3°4,5,¢ 7,813 2o}

' fi) BUC - ?C‘f% 59,10, 1, 2o

| W) BOB = § 25 ]

V) A0C = o, 5]

Vi) Bac = {5}
At Rue  hed EEI@'}%};J!‘}{EU{)*E
At ANB  hy 3 elments N(A4NB) -3
As ANC ke Q elementt N(AOC) = 3

l Al ROC hcu | element , N (BNC)= 1

0 p- {0,147} od A RIETIAE RS
éiﬂfﬂ %:{G,Uf‘ig";?; j

: fﬂmfkmm\]— hf' A= 4': {"?/3/ gngFf 1 Mf

) A- ?Cﬁ')fnr}mdj} ord £ - §olphatet of sn?wk}

Complerment f A A el ]
| - é@ €, 5 ) t»:j
i) A=t in Clos il of Al Sthools in Efﬂ-—’;aﬁ-&qf ond
EI . Sﬂﬁ'hﬁlfh}-i on (loys Vil aj all }umu in g}ﬂgdmj


Admin
Typewritten text
Operation on sets Venn Diagrams

Admin
Typewritten text
Operation on sets Venn Diagrams


(mqylerr)m} o; A - A’,éfahh in (fass VIS of all Scheols in @t’rﬁf«lwwj
W A= leften f kALEA ] ovd £ - {letkers o KotkaTA ]

Complement- of A =A"= {01

V- A- éodd Y)aI'MYOJ m.,«)ge,/s} and % : ékﬂwk hwr)kﬂ}

C"MPI('Y)C‘"} 4’ A :‘A’_. {0} o?/l»j}é/ 9}'0/“_'_ = R _‘f

3 A - i,\,q\e,\taq z<x<f}3 and &=$>\f1€NW41£‘(}
A - i"l,S,L} ad [ = 2011,2,21‘12;

1) AUR - %0;'12/3/ 4, 5,6}
i) A0k < § Y]
iy A-0 - §5,¢]
W &-h < foi23l
4. p-1o1,234,5 i Q-f{456L¢ §
() pUg - éo} 1,23, 4, 5;4/;/:}
i) posg = 145]
i) 9-6 + 191235
v) Q-1 = 1478
Yes, pUQ i o Jpoper fuperiet of PNQ b4 Vite vesfs isf;‘\j;}w
03|
fin& A (onfeinS  €lements net i L




15 A= {lﬁHf'H n]— oy _INI'EG,RfTYi
iy AUR - SINT EGREY (K0 ]
i) AOB { N, E &R}

Iu) A-R iT‘f

|
|
|

;—,f) R—4 ’{CJL,@i

B = § letfers of w0l

Keckon ING §

ayn(a)=7F N(r)=¢ n(hoR) = 5 N(AUR)= o
n4-)-a n(R-A)=73
n(A)+n(B)-n(ao k) - 948 -6 = lo=nN(AUR)
L) n(Aus)-hN(n) = lo—% -2 =h(h-18)
nea) — nN(ANR) = 1-6-2 -n(a-8)
¢) N(8AUR)- N(A) = lo-3 =3 H(B- A)
3 =N(R-4)

N(E)- n(AOR) = £ -6 :

d) N(A-8) 4n(B-A)4N(A0L) - 24344 = lo-n(aus)

ER NN TS LR

- E;GE

E ;l rﬂliuzaol{z&_%’f‘ia} §

B §e 218,24, 30,304 - - -
N éug—{sctarz.u 8, 20,24,
Ang = { 20}

W) hA)-8,N(B)=¢

n(ANR)= |

n(n)tN (k) - n(ank) - §1&6-1+ 13 =n(HuUt)

3
25, i’a 34. Lw} ”5

n(we)- 13



—} |

) A - éSﬁ}
i) B = §1,235,1,]
i) AUR - §1,2,2,4,6,, ¢
V) AOR = $u ¢ 84
J)A'_@ = gﬂﬂl’ {Ijljgjﬁf‘:]lfqi
Viy B-4 = BNA' = {
ﬁj) mﬂ&)t: %1}1} 3, 5‘):}Jf}£
viny A'ug’ - 1,3, 5,7,1]
a) (hap) = A'UR' - §1,2,2,5,2] Wk
L) KAy =3 nK')d N1

A0 (A) =312 =1:-N(%) Vesified
¢) nar)+n(aan))

nAaR) =3 : N(BNGY) = &

(+3=9 =N(%) . vesifid

d) NB-8) 4 n(B-4):0 Nn(AB)=3
N(h-8)4 N(B-A) +N(ANG) = Y10+ " 3 =N(AUR)

§ = T‘E]fléhh?{ﬁfﬂ}}ﬂﬁé1{7325"3 Q=39 gey <t

T - -‘]ﬂjL?_/]/LLSX%?,E/r’L 'c} Ai-éﬁ,cj’?jx‘i};ﬂf.
R §345¢7)

) AUB: {34,568 0} A far2 34l

4

- - | B Yo 12 8900
(pus) = fo 12} b l {



| ﬂ.mjt,,.{ (,n,.ug,)'f Aor'- %oj 12}

0 por - § 5,073 S1A0R) - fo,,2,34,09 le]

|
|
{ AFLJ@'—. {ajl)l.rgftjjf,ﬁjjai

, faredove (A1) A'UB'
i) A-R -$049 10} |
;  A-B - AR
AOR' = {8,910
' - =11
) B-A = {3 .

R0A' = §23,4}

A n(n): 20, NR)- e, N(HVB): 20 nenR) -9

| ke ko n(AUR)- NO)FT(E) n(H0B)

30 - o4k -N(ANG)
NAHOR) - -0 = €

ifa- ns): . nta')=3 nk)7
| e ko M(BAD(A)N(E)

nea) = do-9 13

Al n(s) o N(A)-Qe N(B)=1¢ N(HUR)- 31

L () () n(s) a 0B) el 29
N(R)=2Y




nhur) -nAH)+ NIR)-NAM)
12 = 204 24 - r}{gﬂﬁ;)

nepor) = 4~ 32 = 12

WQ:E(-‘M ﬂ_)_ﬂ

2 (g 22, n(a) 20, (8= 16, NCAMY)
hn(AUR) - M(%) - NKYE)')
C72-Yy -

| [ (pur) = 21 |
D n(pn) - v (A1 H(B)=n(AUB)
. 204 4% - 28
- 96-3% = €
i) N (A-8) - N(H)-N(HIL)
- Qo — 8 =12

I I*’}Mfﬁl}-—lz'

2 n(z)-4e n(a'):1s, N(B)=1x n(Ame) )-22

. :
i) n)en(s)- o) el
| NB)=n(s)-n(8) - Yo 12 - 2

i) h(pas)=niA)+h(B)-n(A OR ) = W ¥ b2
| &¥)
neos) = (%)~ n(pa)) = Yo~ 72 =%

W) ﬂf'al»'ﬂ)rn{ﬁHT}fﬁ)*-ﬂ(&ﬂE): 25412 - =21
V) N(H-R)- n(H)- n(hor) = - & = 17~
Vi) N(g-A)- hm)-n(sm)=12-8 =4




9 np-n)- 12 nes-)=l6, NAIL): 5

hyn(a) i) neB) M)A
|
) n(A-1)-n(A)- (L)

nA)-1345 - 17
i) N(r-A) =NR)- n(Aa8)
) le4 5

i) nsur)- nlA)1h(r)~NMBOR,
i)
. 19+al -5 = 35 273

n(AUR)= 37

!
|
|
i
1
|
!



EXERCIE (62

I fovo venng d}agfam,m jwi Jrad
Y A fo5,989, 11}

i) R-43548;
{ir) g - {aj L2,Y5¢ 9,87, H,il.j
v) A'- {412
V) ' oy 3,9, R
| Vi) AUR = 10,25, ¢,,89 11f
Vi) AOR - {5, 8]
Vi) (hon) = $1,4,105
L) (pon) = fo, LU E T L3
4y |
MNE {ca,gﬂ,f};‘ﬂ,h;ij
IONCEREEAS
| i) T - éa,;,f,d.f,ffa/'w;f
| iv) Pl’: {cﬂj}
V) Q- M,f-,ff;‘.-,‘u Y
i) pug - {45 4,8l
Vi) pAQ = 154 ¢
Vi (pug ) = { ¢, 1}
1) (Pnﬁ); - {ﬂ,.ﬁpex‘?j“,«ifjf



g
)% =90 1,33Y, 56,8, 9,101, 1% |

SRy

i) Ao = ia 5,5’}
”*)M}Eﬂcf §0,5 1
W) £2,3,6,000,12

.r‘f‘j

""Ir) A-C = AOC : %g;”jj

Vi) B-¢ =B = % 38,00 ]
Vi) (6 = cnr' = é 3ft1j{}
viii) (pOR) - §a4¢4a, 1)

I y) (!jUEU()’ = izﬁj 2]

A0y p-falaen, aman, nes ] B '-'HHC-H 174n, hes]

492,468, lo] R-14812, 16 §
ﬁ@(
Noh ‘{r’“mi-«cfumf 42) D in*w “chis of €
121 7} 9235 §

T)“

i) P HNN{HD} Q- ﬂpﬂm()pﬁc}’m of 210

p-fo1,234,502,8f 9 39275



ﬁ é E

5__
nM):a2 n(e)-1¢  NHR)- 5

| } "}f_"‘j’uﬁ) = )+5413 = 3§

i) n(a-n) = N(A)- n(AOR) = I3 -5= 12

i) n(r-#) = N(r)~nN(aaBy = 375~ ¢

oe)- ¢, nlhor)’)-5

(o n)=ar nB)= 1600

I

o .
| .

N NeAos) = 1946 1o =38
i) N(%) = n(AoR)4n(tava)) = 364§ -4e
i) N(A-8) .n(p)-n(AOR) = as-¢ =19
i) oA -n(s) -0 (A0B) = 1€ <o




7 NE)H ")(6'):? ne)=lo RCA

| -
| [

AR Chadrd

ne4) = n(s)-n®) - 8-

N(a-B)=Ne4a) -NBM)= 18-l =&

o (asdinal  number o] fef A-R is €

CvicKek }14%”

R

l
- V) (0')!(1 (ricket ) -fr)(anLJj,I Lall ) 4 r)(sofk (vickef gﬂ,}gd,)
* ke tld+ 5

= 97
i) Neithes  Cackel  hov ,ﬁ.«{s«ll
N(AaR)') = Tl Shdent = O(AU@)
s 5o ~-131] =12




| e fromy Venna  Dicgram

f l) fin m//)w ard ﬂq;)qnq.
| h(ane) = ne of  Shents Who [ike tolr oang and Bancry

= hr 0} IM@J— e l”(e OYARGE  — ho- 0/ !NN
ke 'n'kc aY=ny L}

2 39 =l hef- Lanang
i O

i) NCB)=9

N(AVR) - n (A)+n(8)-"N(AOR)

N(8) - 4o — 39+ ¢ = 4¢-32

- 1(1
NyrLer of- Shdent ke [ike 'only L‘f\q;r\a S Y
= &

l6 G 7 n |
|
| g"ff-l' £mj|d‘s

:  —

")(60&) = A

n(sue) = n(8)4D(8) ~N(ANK)



Lo = Y 428 -
A= T3¢0
-r;t; o people ko Speck Lol Bengali and Snglish






